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Answer the following multiple choice questions 

(Circle or put a check mark (X) next to the correct answer)

(25 points)

Q1.
Pho_r_us has just started a website and they are getting 500 hits per day. This is not satisfactory based on industry standards. They revamped their website and are now getting 5000 hits per day. This, however, has not increased their web sales. Pho_r_s web site is 


A)
Both efficient and effective


 B)
Efficient but not effective  X

C)
Neither efficient nor effective 


D)
Effective but not efficient

Q2.
Each team has only one home stadium and each stadium can have many home teams. This is an example of what kind of relationship between TEAM and STADIUM?

a. 1:1 X
b. 1:many

c. Many: many

d. None of the above

Q3.

What are project deliverables? 

A)
A temporary endeavor undertaken to create a unique product or service 

B)
The application of knowledge, skills, tools, and techniques to project activities in order to meet or exceed stakeholder needs and expectations from a project 

C)
Any measurable, tangible, verifiable outcome, result, or item that is produced to complete a project or part of a project  X

D)
Represent key dates when a certain group of activities must be performed 
.Q4.
Accounts_r_us provides payroll services to its clients throughout the world. On April 12, 2008 there was an earthquake that destroyed part of their headquarters in Los Angeles. They temporarily moved the employees to nearby San Diego facility which they also own. Employees were able to work normally at this facility. San Diego facility is most likely an example of a:

A. Collocation Facility



B. Cold site





C. Hot site X
D. None of the above

Q5.

Mr. Smith is in New York and needs to talk to his kids in California. What emerging technology would be most suitable?


A)
Biometrics

B)
CAVE X

C)
RFID

D)
Digital Dashboard
Q6.

What is a Web site in which items are posted on a regular basis and displayed in reverse chronological order? 

A)
RSS  X

B)
Podcasting 

C)
SEO 

D)
Blog 
Q7.
Finding patterns in large amount of data that are not immediate obvious is 

called

A. data mapping

B. data warehousing

C. OLAP X
D. None of the above

Q8.
When a system is developed too rapidly and informally, the most common problem is


A. report overload  X




B. database deluge




C. vanishing documents


D. excessive keypunching

Q9.

What is the ability to purchase goods and services through a wireless Internet-enabled device? 


A)
Mobile commerce  X

B)
Telematics 

C)
Electronic tagging 

D)
Radio frequency identification 
Q10.

What represents a session where employees meet, sometimes for several days, to define or review the business requirements for the system? 

A)
JAD session  X

B)
Business requirement 

C)
Requirements definition document 

D)
Sign-off 

11.

Which of the following describes e-commerce? 

A)
Buying products from each other 

B)
Buying services from each other 

C)
Selling services to/from each other 

D)
All of the above  X
12
Strategic managers are the highest level of hierarchy and they prefer

A) mostly external, detailed information

B) mostly external, summarized information

C) mostly internal, summarized information X
D) mostly internal, detailed information

13

Strategic planning is part of the         system.



a. transaction




d. expert systems



b. decision support
X


e. executive support systems



c. management information

14.
 
World_r_US has offices in Paris, Bangkok,  London, Dublin, Miami and Salvages. They want fully connect all sites. How many maximum connections are possible?



A)         12. 

B)
15. 

C)
6. 

D)
None of the above. X
15..

Which AI system can be “trained” to recognize patterns? 

A)
Expert system 

B)
Neural network  X

C)
Genetic algorithm 

D)
Intelligent agent 
16
. 
The old system and the new system are run in tandem using the       approach.


a. crash conversion




b. pilot






c. phased


d. deferred


e. parallel X
17
. A(n)_________consists of a hardware or software designed to keep unauthorized users 

out of network system



a. encryption systems



b. alarm system



c. firewall X


d. ERP systems



e. SDLC

18

In general, given two entities FATHER and CHILD, what’s the nature of relationship between FATHER and CHILD. Assume father is biological father.
a) 1:1

b) 1:M (many) X
c)  M (many) : N (many)

d) None of the above

19. When a system is developed too rapidly and informally, the most common problem is


a. report overload
X



b. database deluge




c. vanishing documents


d. excessive keypunching


e. unwieldy spreadsheets

20. An information system developed to handle crisis situation is called a (n)     system.


a. accounting system



d. management information system


b. transaction
processing system

e. expert system


c. decision support system X
21.

An ATM card is an example of which form of biometric security? 

A)
What you know 

B)
Who you are 

C)
What you have X

D)
What you can do 

22

What technology are many organizations implementing to streamline supply chain management? 

A)
RFID X

B)
Biometrics 

C)
RFPC


D)
Haptic interface 
23.
Given a customer record with fields customer_name, customer_address, customer_balance, what part of DBMS can be used to describe these fields

A) DDL X
B) DML

C) SQL

D) None of the above

24.
Given the following relation

BOOK (book_ID, author_NUM, date_published). Assume a book can be written by only one author but an author can write many books. What would be appropriate primary key?

A) book_ID X
B) book_ID, Author_NUM

C) Author_num

D) None of the above
25

What is a subset of a data warehouse in which only a focused portion of the data warehouse information is kept? 

A)
Data mining tool 

B)
Data mart  X

C)
Data factory 

D)
None of the above 

Ques #2
.Discuss the following statements, be precise. must relate to concepts in the book and/or lectures. Generic answers will not get much credit

(9 points)

a. How can value-chain be used by GIANT food store to identify competitive advantage?

 First they should identify which processes add value for its customers. They could use a survey system. They could then determine which processes need improvement. From there they can identify processes that reduce value. They can also achieve this by a customer survey. 
b. Expert systems capture human expertise. Will Expert system  be ever able to behave like experts? Why or why not?

No because unlike a human they can not learn. An expert system is not capable of gaining knowledge from previous experience. They can not use common sense or judgement. 
c. How much should a business look into the background of employees to try to identify those with potential problems? What ethical issues arise in this situation?
There are many legal ways to do background checks or credit checks on an employee. This should be limited to information that is available to the public. A business should get the prior permission of the employee before hand. You can look at criminal records also but this should be limited to those available to see.  Sometimes if people commit crimes as a minor they may be able to get those records sealed. If this is the case a business should not try to get into those records. The only ethical issues I could see arising from this is when they use unconventional means of getting the information. This would be like having a person investigated by someone, hacking into their personal information that isn’t readily available or that there were not permitted to see. If a business doesn’t trust an employee to the point the need to illegally get information they should not have hired them. 
Q # 3

At Viacom International Inc., the New York based parent of MTV, Mr. John Nutt, the CFO teamed with executives from marketing, sales, manufacturing, human resources and contracting to lead the company into new directions. Because financial processes are so intertwined with the processes in other department, he felt that redesigning finance should ideally be part of company-wide effort. Although some turf were inevitable, executives involved in large scale effort to reorganize the company were persuaded to support company-wide efforts.

Some of the goals mentioned were, the new system should allow any department access to “work-in-progress” information. Also, the new system should reduce dependence on paper, particularly financial transactions. Further it should managers more time to analyze the data to make better decisions, rather than spending their time in collecting the data.

(4 points)

a. What system(s) (ex: DSS, GDSS, NN, SCM, CRM, ES, ERP, GIS etc..)would you advice and why?
 An ERP system would be the best because it can combine the management functions needed for all of the departments involved. This system would also include the factors of CRM. 
b. What problems might be encountered in installing this system? The biggest problem to me is the dependence on a vendor for ERP. It is not sometime a company can make for themselves. Also it is expensive and has many features but the advantages outweigh the faults. 

Ques #4  Identify and discuss four emerging technologies (as discussed in the class) that are performing several tasks for the following situation. Must discuss these technologies in relation to the case below (how technology is functioning and helping them in each case). Generic answers will not get much credit  
(4 points)

Ms Lin and Mr. Johnson are going to Paris . They are stuck in the traffic due to an accident and

will miss their flight on United Airlines. Recognizing this an automated voice-activated system,

after discussing with them, arranges for an alternate flight on Air France. They arrive
at the IAD (Dulles international) airport and are directed by a voice to an empty space “3C” in the international parking lot.
They are cleared through the security by a camera and proceed to boarding gate. They  speak their names and are informed by a voice about their seat assignment 5C & 5D and upgrade. When they arrive in Paris they scan their ticket on a machine and  their luggage comes rolling in. As soon as they get their luggage their rental car is waiting at  the curb to  take them to their hotel.

Emerging technology One automated speech recognition
(explain how it is helping in the above process)

This helped because it allowed for them to change their tickets over the phone with out speaking to a person. While waiting for a live person they could have been on hold for a long period of time which can make a person very frustrated. 
Emerging technology TWO facial recognition
(explain how it is helping in the above process)

This allowed the camera to recognize who they were with out the use of a physical person looking at a verifying their identification. This saved time and money for the airlines. 
Emerging technology THREE_RFID________

(explain how it is helping in the above process)

The RFID on their tickets corresponded with one on their luggage. By scanning it, it allowed for their luggage to be released only when they were at the luggage site and reduce the chance on someone taking it. 
Emerging technology FOUR   Cell Phones
(explain how it is helping in the above process)

With out the use of their cell phone they would not have be able to change their ticket in the first place. 

Ques #5

P & B is a defense contractor and every employee has to pass security clearance. They recently fired John Doe who they believe was copying sensitive data from their files. John claims he is innocent. P &B has quarantined his computer. They do find some altered file in their database but are not sure if John altered them. You are a Computer forensics expert and have been hired by P & B to investigate this further.

Identify the FOUR steps involved in Forensic investigation and how you will proceed in this case. Must relate steps to the case to get full credit. Generic answers will not get much credit.

(5 points)

The Collection Phase

They need to collect all the information from John to see if he was copying data. This may include his home computer and his cell phone or flash drives he may have in his possession. Basically they may need to search his home to see what he has there. 
Ques #6

Ben & Jerry’s, located in Waterbury, Vermont, produces 190,000 pints of ice cream and frozen yogurt daily to ship to over 50,000 grocery stores in the united states and 12 other countries. Every single pint is meticulously tracked, first by being entered into an ACCESS database with the information carefully organized. Ben & Jerry uses a sophisticated data-mining tool set from a company called Business Objects to track customer tastes.

Answer the following:

a. assuming following tables identify Primary  (PK) and foreign key  (FK)s of the following tables.

ICECREAM  table

	Ice_cream_type
	price
	years_first offered
	total_sales

	
	
	
	

	Vanilla
	$2/scoop
	1981
	$45M

	Cherry
	$3/scoop
	1976
	$45M

	Chocolate
	$3/scoop
	1981
	$60M

	
	
	
	


INGREDIENT

	Ingredient _name
	Ice_cream_type
	quantity_used

	
	
	

	Vanilla beans
	Vanilla
	20 oz

	Vanilla beans
	Cherry
	20 oz

	Cherry pits
	Cherry
	30 oz

	Etc…
	
	


(4 points)

a. 

PK of ICECREAM table   Ice_cream_type
PK of  INGREDIENT table Ingredient_name and Ice_cream_type
FK of  INGREDIENT table  No foreign key
FK of  ICE CREAM table   Ice_cream_type
b. Draw the relationship (1:1 or 1M or  m:n) between ICECREAM and INGREDIENT table. (see page 375) and justify it.
(2 points)

ICE CREAM<(----------------(>INGREDIANT
m:




n
This is because you can each ice cream can have more than one ingredient and each ingredient can go with more than one ice cream.
c. Write a query in SQL to get the names of  different ice cream types and the years they were first offered in SQL
(2 points)

SELECT 
ICE CREAM table

SELECT ice_cream_type

Years_first_offered

Ques #7. Companies are moving towards internet advertising and joining social networking web sites like Facebook, Myspace, Twitter to market their products. One factor they found to be very important is ‘portability”. Identify how portability can help a company tap into new markets. Discuss this in relation to value chain and Porter’s model.

(5 points)

Portability can help a company by giving its consumers the ability to use or have access to a product no matter where they are. Many people like to have access to items on mobile devices. One product I use called Pandora which allows me to listen to 40hours of music online for free is now available on android phones. The company also has a pay for service at $9 I believe. The ability for me to take this device from web to phone with the same options available in both places makes me willing to spend 9 dollars for unlimited service. I can use it on anyone’s pc and my own including a mobile phone. All I need in my log in. this make it preferential to a system like iTunes where I need to have my songs downloaded to each device. If I leave my iPod at home I can not listen to my music. Pandora wants to decrease buyer power to make them the choice for portable music. This increases rivalry among competitors. Portability makes it a bit harder for new entrants except for web based services. I think this threat is higher because they already have a web based system and which more web based portable devices it is easier for people to access those same websites mobile. In fact most websites I regularly visit on a regular computer have a mobile site for a phone. One of my favorite stores uses Facebook to promote sales. They sometimes have a power hour sale which may last from 12-2. With the mobile portability I can utilize this sale on a mobile device. This is not a good industry to enter because of the barriers for entry like music licensing. 





